



Nome: _____

Data: _____ Punteggio: _____

$$\left(-\frac{1}{4}\right) - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{2}\right)^{(-2)} + \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{5}\right)^2 - \frac{1}{4} =$$

$$\left(-\frac{1}{3}\right)^{(-2)} - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{2}\right)^{(-2)} - \left(-\frac{1}{5}\right) =$$

$$\left(\frac{3}{5}\right)^2 - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{5}\right)^0 + \frac{2}{5} =$$

$$\left(\frac{1}{6}\right)^{(-2)} - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{2}{5}\right)^{(-1)} - \frac{1}{4} =$$

$$\left(\frac{3}{4}\right)^{(-1)} - \frac{1}{6} =$$

$$\left(-\frac{1}{3}\right)^{(-2)} + \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{4}\right)^2 - \frac{1}{6} =$$

$$\left(\frac{1}{3}\right)^{(-1)} + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{3}{4}\right)^{(-2)} + \frac{1}{5} =$$

$$\left(-\frac{1}{3}\right)^{(-2)} + \frac{1}{2} =$$

$$\left(-\frac{1}{3}\right)^2 + \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{6}\right) - \frac{1}{6} =$$

$$\left(\frac{3}{4}\right)^{(-1)} + \frac{2}{5} =$$

$$\left(\frac{3}{4}\right)^{(-2)} - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{5}\right)^2 - \frac{1}{5} =$$



Nome: _____

Data: _____ Punteggio: _____

$$\left(-\frac{1}{4}\right) - \left(-\frac{1}{3}\right) = \frac{1}{12}$$

$$\left(-\frac{1}{2}\right)^{(-2)} + \left(-\frac{2}{5}\right) = \frac{18}{5} = 3\frac{3}{5}$$

$$\left(-\frac{1}{5}\right)^2 - \frac{1}{4} = \left(-\frac{21}{100}\right)$$

$$\left(-\frac{1}{3}\right)^{(-2)} - \left(-\frac{2}{5}\right) = \frac{47}{5} = 9\frac{2}{5}$$

$$\left(\frac{1}{2}\right)^{(-2)} - \left(-\frac{1}{5}\right) = \frac{21}{5} = 4\frac{1}{5}$$

$$\left(\frac{3}{5}\right)^2 - \left(-\frac{1}{5}\right) = \frac{14}{25}$$

$$\left(-\frac{1}{5}\right)^0 + \frac{2}{5} = \frac{7}{5} = 1\frac{2}{5}$$

$$\left(\frac{1}{6}\right)^{(-2)} - \left(-\frac{1}{3}\right) = \frac{109}{3} = 36\frac{1}{3}$$

$$\left(-\frac{2}{5}\right)^{(-1)} - \frac{1}{4} = \left(-\frac{11}{4}\right) = \left(-2\frac{3}{4}\right)$$

$$\left(\frac{3}{4}\right)^{(-1)} - \frac{1}{6} = \frac{7}{6} = 1\frac{1}{6}$$

$$\left(-\frac{1}{3}\right)^{(-2)} + \left(-\frac{1}{5}\right) = \frac{44}{5} = 8\frac{4}{5}$$

$$\left(-\frac{1}{4}\right)^2 - \frac{1}{6} = \left(-\frac{5}{48}\right)$$

$$\left(\frac{1}{3}\right)^{(-1)} + \left(-\frac{3}{5}\right) = \frac{12}{5} = 2\frac{2}{5}$$

$$\left(\frac{3}{4}\right)^{(-2)} + \frac{1}{5} = \frac{89}{45} = 1\frac{44}{45}$$

$$\left(-\frac{1}{3}\right)^{(-2)} + \frac{1}{2} = \frac{19}{2} = 9\frac{1}{2}$$

$$\left(-\frac{1}{3}\right)^2 + \left(-\frac{1}{4}\right) = \left(-\frac{5}{36}\right)$$

$$\left(-\frac{1}{6}\right) - \frac{1}{6} = \left(-\frac{1}{3}\right)$$

$$\left(\frac{3}{4}\right)^{(-1)} + \frac{2}{5} = \frac{26}{15} = 1\frac{11}{15}$$

$$\left(\frac{3}{4}\right)^{(-2)} - \left(-\frac{1}{2}\right) = \frac{41}{18} = 2\frac{5}{18}$$

$$\left(\frac{1}{5}\right)^2 - \frac{1}{5} = \left(-\frac{4}{25}\right)$$